
 

Binomische Formeln 

A 1 A 1 
 

 1. ( ) =+ 2ba  

 
 2. ( ) =− 2ba  

 
 3. ( ) ( ) =−⋅+ baba  

 
 4. ( ) ( ) =−⋅− baba  

 

 Lösung:  22 2 baba ++  

 



 

Binomische Formeln 

A 2 A 2 
 

 1. ( ) =+ 2ba  

 
 2. ( ) =− 2ba  

 
 3. ( ) ( ) =−⋅+ baba  

 
 4. ( ) ( ) =−⋅− baba  

 

 Lösung:  22 2 baba +−  



 

Binomische Formeln 

A 3 A 3 
 

 1. ( ) =+ 2ba  

 
 2. ( ) =− 2ba  

 
 3. ( ) ( ) =−⋅+ baba  

 
 4. ( ) ( ) =−⋅− baba  

 

 Lösung:  22 ba −  



 

Binomische Formeln 

A 4 A 4 
 

 1. ( ) =+ 2ba  

 
 2. ( ) =− 2ba  

 
 3. ( ) ( ) =−⋅+ baba  

 
 4. ( ) ( ) =−⋅− baba  

 

 Lösung:  22 2 baba +−  

 



 

Binomische Formeln 

B 1 B 1 
 

 1. ( ) =+ 22x  

 
 2. ( ) =− 23k  

 
 3. ( ) ( ) =−⋅+ 55 mm  

 
 4. ( ) ( ) =−⋅− 88 yy  

 

 Lösung:  442 ++ xx  

 



 

Binomische Formeln 

B 2 B 2 
 

 1. ( ) =+ 22x  

 
 2. ( ) =− 23k  

 
 3. ( ) ( ) =−⋅+ 55 mm  

 
 4. ( ) ( ) =−⋅− 88 yy  

 

 Lösung:  962 +− kk  




